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[ A=2x*—4x—5, B=3x*—2x+2 L¥%, KOXEZFHET L,
[3.5]
2A+B—(4A—-3B)

2] ROKXZREB L, 22O THESRZOIEIZERE X, [34]
(ax—1)x%—x+a)

Bl kOXEREHEE L, [(1)~(6)25, (7)~(13)3:1]

1) (a—3b)? 2) (—a+b)(—a—>b)
@) (x—4)x+2) (4) (x—2y(x—13y)
(5) (3x—2)4x+3) 6) (2a—b)3a—2b)

(M) (x+y=17

8) (x%42x—4)(x%—2x—14)

9 (a+2b%a—2b)°

(10) (x—y) x+ yNx2+ yA)(x'+ yY)

(11) (x+1)x—1)x—2)(x—4)

(12) (a—2)°

13) (x—1)(x%4+x+1)
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] RORXZKELEE L, [(D~6)28, (6)~(22)3:]

(a—1)x—(a—1)

x2—12x+35

2a%—Tab+6b2

1222 —7xy—12y2 12x%2—23xy+10y?

11) (x—p)>*+2(x—y)—24

(12) 4x%—(y+2)?

x4 —13x%436

(15 xy—x—y+1 (16) x2—8y+2xy—16

(17) x2+5xy+6y2—2x—Ty—3

(18) 2x%+5xy+2y%+5x+y—3

(19) abla+b)+bc(b+c)+calc+a)+3abe

(20) x*+27 21) 8x3—y?

(22) x*—9x%+16



